ĐÁP ÁN BÀI 1 TRANG 71 SÁCH GIÁO KHOA HÓA 9
Đề bài

Viết các phương trình hoa học biểu diễn các chuyển hóa sau đây :

[image: image1.jpg]) Fe —2 FeCly; —2» Fe(OH); —2> Fey(SOy); —4» FeCly
b)Fe(NO3); —2» Fe(OH); —2» Fe,0; —2 > Fe —& 5 FeCl, —&» Fe(OH),
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[image: image2.jpg]Phuong trinh héa hoc:
a) (1)2Fe +3Cl, — 2FeCls
(2) FeCl; + 3NaOH — Fe(OH)3| +3NaCl
(3) 2Fe(OH); + 3H,S04 — Fey(SOy)s + 6H,0
(4) Fe(SO4); + 3BaCl, — 3BaSOy + 2FeCls
b) (1) Fe(NOs); + 3NaOH — Fe(OH)3| +3NaNO3
(2) 2Fe(OH); — Fe,05 + 3H,0
(3) Fe;05 + 3CO — 2Fe + 3CO,1
(4) Fe +2HCl — FeCl, + Hy?
(5) FeCl, + 2NaOH — Fe(OH),| +2NaCl.
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